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B. Com. (Part IT) EXAMINATION, 2020

(Group—I|[
Paper - 1
COST ACCOUNTING

Maximum Marks - 75
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Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

THE—1
(UNIT—1)
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What is Cost Accounting ? What is its nature and scope ?
-
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From the followingqurticulars determine the €Conomj,
order quantity and l1ll%bé§'of orders placed every year -

Annual usage 400 units

Cost of placing and receiving an order T 60 p. u.
Purchase price ¥ 10 p. u.

Annual inventory carrying cost¥ 3 p. u.
TIR—2

(UNIT—2)
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Discuss the principal methods of wage payment ang
explain any rhree of them.
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Calculate the wages of a worker under Halsey Premium
plan :

!

Standard Time 10 hrs.
Actual Time Taken 8§ hrs.
Wages Rate <2p.h

Bonus 50% of Time Saved

Dearness Allowance ® | per day for 8 hours |

Scanne d with CamScanner




.

ey (3]

(UNIT—3)
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4

SILDi 60,000
SL| 80,000
g e wTa 5,000
I YIy h 4,000
IREMT IR 15,000
FrAT I9RAY 10,000
fasm wa faaRor g 5,000
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The Account of Amit & Co. Ltd. for the year ending 31st

March, 2012 show the following :

4
Materials 60,000
Labour 80,000
Abnormal Idle Time 5,000
Other chargeable expenses 4,000
Factory overhead 15,000
Oftice overhead 10,000
Selling and Distribution expenses 5,000

Prepare a statement showing prime cost, works cost, cost

~of production and cost of goods sold.
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QA 40,002

SP & T 3,00,000 o AT YE A AT AT o
S# Of 8§ v af ek o e g wAiiE e
% 1,80,000 oI 3R a9 fA9vst @& wAIv-uz &7 75% Ade
W BT T 9 @ I ad fbAT T S, W
YA o, BT FFAH T 10,000 TAT BRI Il W UL
g9 WM I o4 T 5,000 o |

MY SH TRI TR HNAT T Ry 5 feaqar am
mmmaﬁawﬁﬁ?mwm%m
Pl 2|

The Contract Ledger of Rajesh & Sons showed the

following expenditure in connection with the contract for
the construction of a factory building :

4
Materials | : 1 90,000
Wages 50,000
Overhead 20,000
Plant 40% ,
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The contract price was ¥ 3,00,000 and it was estimated
that the contract would take one more year to complete.
The work certified so far was ¥ 1,80,000 and 75% of
architect’s certificate was received in cash. At the end of
the year, the work done but uncertified was estimated at

% 10,000 and the material lying, on the site was  5,000.

You are required to prepare the Contract A/c and show
what profit you deem reasonable to credit ? The plant is to

be depréciated by 10%.
TIR—4
(UNIT—4)
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What do you understand by Transport Costing ? Discuss

its objects. In which industries is it used ?
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B 7500 500
C - 4500 250
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From the following particulars allocate the _|q|nt| Cc‘b_:
among the joint product A, B and C by physical ufi

method I
Product | Raw Materials used (units) __L'l\itiﬂrfffi}{i i

A 3000 750

B 7500 500
C 4500 250 |

Total | 15000 1500

If pre-separation point cost is T 22,500.
. s
(UNIT—=5)
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What is Integrated Accounts ? Discuss its objectives.
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FREH A 20,000 22,000
Frater @ | 12,000 10,000
R w e a3 8,000 7.000
CIEINE 5,000
iR A fH w® 71l 1,500
SIRER 10.000
S 1 S 5,000
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The cost books of a company show as profit of T 40,000
while the net profit as per financial books is ¥ 29,500. On
the basis of the following information prepare a statement
remiting the two profits :

B " [ Cost Books | Financial Books |
) )

Factory expenses 2().,—(3(")() B 'v72_f27:07()0
Office expenses 12,000 10,000
Selling and

Distribution Expenses 8,000 7,000
Dividend Received 5,000
Loss on Sale of

Furniture 1,500
Income Tax 10,000
Goodwill Written-off 5,000

6,200
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